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1] — s 100f&/mILL T 0 1 0 0 0 0 0 0 0 0
2| KIGHE BHShZenZe | AR AR SR AR SR NS S | AHH
3IIRIV LK ZDLEW 0.003mg/1LL F <0.0002

4| KER K OZF DL EW 0.0005mg/1LL F <0.00005

5| BV R OEDILED 0.0lmg/1ILLF <0.001

6|5n L NEDILEW 0.01mg/1LL <0.001

1eE K OZOIEW 0.01mg/1LL <0.001

RN 0.02mg/1LL <0.001

o ANERREE R 0.04mg/1LL T <0.004

0T A AF L KOs T 0.01mg/ILL T <0.001 <0.001 <0.001

11| fHEARE =2 M O PR REE R 10mg/ILLF 0.49

12|79 F K OZDILEY 0.8mg/ILL T <0.05

13| RV HE K PZEDILEY 1.0mg/1LL T <0.1

14|V bR SR 0.002mg/1LL <0.0001

15|, 4= FF o 0.05mg/ILL T <0.002

16 V21,20 7anzF1y L O A-1,2Y 7aazFly |0.04mg/1EL T <0.0002

17 7uaiiy 0.02mg/1LL F <0.0001

18| o 7ma=F1L 0.0lmg/1LA T <0.0001

19N Z7aexFL 0.01mg/1LLF <0.0001
20| B 0.0lmg/1LL T <0.0001
21 [ MRk 0.6mg/ILL T <0.06 <0.06 <0.06
22| 7 o HERE 0.02mg/ILL T <0.002 <0.002 <0.002
23 7aak 0.06mg/1LL T 0.0004 0.0006 0.0001
APZa=t=T ] 0.03mg/1LL T <0.002 <0.002 <0.002
25| V7 BEyERAY 0.1mg/1LL T 0.0006 0.0009 0.0004
EET A 0.01mg/ILL F <0.001 <0.001 <0.001
27[F oA 0.1mg/ILLF 0.0016 0.0026 0.0010
28N 7o liE 0.03mg/1LL T <0.002 <0.002 <0.002
29| 7 mET Iau AR 0.03mg/1LL T 0.0005 0.0008 0.0003
307 BERL L 0.09mg/1LL T 0.0001 0.0003 0.0002
31| ANV LTATER 0.08mg/ILL T <0.008 <0.008 <0.008
32| K OFDILEW 1.0mg/ILA F 0.01
BT NI=ZT LR ZEDILED 0.2mg/ILL T <0.01
34|E R O DILE W 0.3mg/ILL T <0.01
358 O Db EW 1.0mg/ILL T <0.01
36| FRIT LK OZEDILED 200mg/1LL T 3.0
3T~ Ho R OFDLEW 0.05mg/ICL T <0.001
38| AL A4 200mg/1LL T 1.7 1.6 1.5 1.5 1.6 2.2 2.0 1.7 1.9 1.9
39BN T A~ T R LA (RRE) 300mg/1LL 23.0
40 7R REY 500mg/I1LLF 64
41 [faA A FmiEvEA] 0.2mg/ILL T <0.02
12T F A 0.00001mg/ILL <0.000001
43[2-AF VAR T — )b 0.00001mg/ILA T <0.000001
44| FEA A TR TEA] 0.02mg/1LL T <0.005
45| 7 = ) —VIH 0.005mg/1LL R <0.0005
16 | H M S (EF SR FEDR) 3mg/ILL T <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3 <0.3
47 [pHIE 5.80L F-8.6LL F 7.7 7.7 7.7 7.8 7.9 7.8 7.6 7.5 7.5 7.4
48]k R AN
49| B & HE TRyt
50| 5ELLT a 3! a a < a < < <1 <1
51| EE 2T <0.05]  <0.05] <0.05] <0.05] <0.05 <0.05]  <0.05]  <0.05 <0.05]  <0.05




